
 

1. Simplify 
a. ଷ

ସ
−

଻

଼
×

଺

଻
÷

ଵ

ଶ
 

b. ቀ
ଷ

ସ
−

଻

଼
ቁ ×

଺

଻
÷

ଵ

ଶ
 

c. ହ

଺
−

ଽ

ଵ଺
+

ଷ

ସ
÷ 3 

d. ସ

଻
×

ଽ

ଵ଺
−

ଷ

ସ
+ 2 

e. ቀ
଻

଼
+

ଷ

ସ
ቁ ÷

ଵ

ଶ
× 1

ଷ

ସ
 

f. −
ଷ

ସ
−

ହ

଺
+ ቀ

ିଷ

ସ
ቁ − ቀ

ଵ

ଶ
+

ଵ

ସ
ቁ 

g. −
ହ

଺
÷

ଷ

ସ
×

ହ

଻
−

ଵ

ଶ
 

h. 1
ଵ

ଶ
− 3

ଵ

ସ
+ 5

ଵ

଺
 

i. 1
ଷ

ସ
×

଻

଼
−

ଶ

ଷ
 

j. −ቀ1
ଵ

ଶ
+

ଵ

ସ
ቁ ÷ 3 × 4 

2. Put the following numbers in order from largest to smallest 

ଷ

଼
 ହ

ଵ଺
 ଵଷ

ଷଶ
 ଵଽ

ସ଼
 ଶଷ

଺ସ
 ସ଻

ଵଶ଼
 

 

3. Simplify 
a. ିଶ଼

ି଻
− 2[3(4 − 6) + 5] 

b. ିଶ

ହ
+

ଵ

ିଷ
÷ 11 

c. ቀ
ିଶ

ଷ
ቁ
ିଷ

 

d. 5|7 − 9| − |−3| − 2|1 − 4| 
e. 3ଶ ∙ 5଴ 
f. (4ଶ − 2ଷ)ିଶ 
g. (3ସ ∙ 7)଴ 
h. 3ିଶ + 2ିଶ 
i. 7଴ ∙ 3ିଶ 

4. Evaluate if 𝑥 = 2, 𝑦 = −3, and 𝑤 =
ସ

ହ
 

a. 2𝑦ଶ𝑧 
b. (𝑧 + 𝑤)ଶ 
c. 𝑦ଶ + 4𝑧 


